

Some inequalities for the polar derivative of a polynomial with restricted zeros

Ahmad Zireh, S. Asie Hosseini

ABSTRACT: Let $p(z)$ be a polynomial of degree n and for any complex number α , $D_\alpha p(z) = np(z) + (\alpha - z)p'(z)$ denote the polar derivative of the polynomial $p(z)$ with respect to α . In this paper, we obtain new results concerning maximum modulus of the polar derivative of a polynomial with restricted zeros. Our result generalize certain well-known polynomial inequalities.

AMS Subject Classification: *Primary 30A10; Secondary 30C10, 30D15.*

Keywords and Phrases: *Polynomial, Inequality, Maximum modulus, Polar Derivative, Restricted Zeros.*

1 Introduction and statement of results

Let $p(z)$ be a polynomial of degree n , then according to Bernstein's inequality on the derivative of a polynomial, we have

$$\max_{|z|=1} |p'(z)| \leq n \max_{|z|=1} |p(z)|, \quad (1.1)$$

equality holds in (1.1) if $p(z)$ has all its zeros at the origin.

The inequality (1.1) can be sharpened, if we restrict ourselves to the class of polynomials having no zeros in $|z| < 1$, in fact, P. Erdős conjectured and later Lax [9] proved that if $p(z) \neq 0$ in $|z| < 1$, then (1.1) can be replaced by

$$\max_{|z|=1} |p'(z)| \leq \frac{n}{2} \max_{|z|=1} |p(z)|. \quad (1.2)$$

The result is best possible and equality holds in (1.2) for a polynomial which has all its zeros on $|z| = 1$.

If the polynomial $p(z)$ has all its zeros in $|z| \leq 1$, then it was proved by Turan [12] that

$$\max_{|z|=1} |p'(z)| \geq \frac{n}{2} \max_{|z|=1} |p(z)|, \quad (1.3)$$

with equality for those polynomials, which have all their zeros on $|z| = 1$. For a polynomial $p(z)$ of degree at most n which having no zeros in $|z| < k$, $k \geq 1$, inequality (1.2) was generalized by Malik [10] who proved that

$$\max_{|z|=1} |p'(z)| \leq \frac{n}{1+k} \max_{|z|=1} |p(z)|. \quad (1.4)$$

The inequality (1.4) is sharp and equality holds for $p(z) = (z+k)^n$. If the polynomial $p(z)$ has all its zeros in $|z| \leq k$, $k \geq 1$, then it was proved by Govil[7] that

$$\max_{|z|=1} |p'(z)| \geq \frac{n}{1+k^n} \max_{|z|=1} |p(z)|. \quad (1.5)$$

The result is best possible and equality holds in (1.5) for $p(z) = z^n + k^n$. Let α be a complex number. For a polynomial $p(z)$ of degree n , $D_\alpha p(z)$, the polar derivative of $p(z)$ is defined as

$$D_\alpha p(z) = np(z) + (\alpha - z)p'(z).$$

It is easy to see that $D_\alpha p(z)$ is a polynomial of degree at most $n - 1$, also $D_\alpha p(z)$ generalizes the ordinary derivative in the sense that

$$\lim_{\alpha \rightarrow \infty} \left[\frac{D_\alpha p(z)}{\alpha} \right] = p'(z). \quad (1.6)$$

In order to extend inequality (1.5) for the polar derivative, Aziz and Rather[1] proved that if $p(z)$ is a polynomial of degree n having all its zeros in $|z| \leq k$ where $k \geq 1$, then for every real or complex number α with $|\alpha| \geq k$,

$$\max_{|z|=1} |D_\alpha p(z)| \geq n \frac{|\alpha| - k}{1 + k^n} \max_{|z|=1} |p(z)|. \quad (1.7)$$

The bounds are obtained depends only on the zero of largest modulus and not on the other zeros even if some of them are close to the origin. Therefore, it would be interesting to obtain a bound, which depends on the location of all the zeros of a polynomial. In this connection we use some known ideas in the literature and obtain the following interesting results.

Theorem 1.1 *Let*

$$p(z) = \sum_{\nu=0}^n a_\nu z^\nu = a_n \prod_{\nu=1}^n (z - z_\nu), \quad a_n \neq 0,$$

be a polynomial of degree n , $|z_\nu| \leq k_\nu$, $1 \leq \nu \leq n$, and $k = \max(k_1, k_2, \dots, k_n) \geq 1$.

Then for every real or complex number α with $|\alpha| \geq k$, we have

$$\begin{aligned} \max_{|z|=1} |D_\alpha p(z)| &\geq \frac{|\alpha| - k}{1 + k^n} \sum_{\nu=1}^n \frac{k}{k + k_\nu} \left[2 \max_{|z|=1} |p(z)| + \frac{k^n - 1}{k^n} \min_{|z|=k} |p(z)| \right. \\ &\quad \left. + \frac{4|a_{n-1}|}{k(n+1)} \left(\frac{k^n - 1 - n(k-1)}{n} \right) \right. \\ &\quad \left. + \frac{4|a_{n-2}|}{k^2} \left(\left(\frac{(k^n - 1) - n(k-1)}{n(n-1)} \right) - \left(\frac{(k^{n-2} - 1) - (n-2)(k-1)}{(n-2)(n-3)} \right) \right) \right] \\ &+ \frac{2(k^{n-1} - 1)}{(n+1)k^{n-1}} |na_0 + \alpha a_1| + \frac{1}{k^{n-1}} \left[\frac{k^{n-1} - 1}{n-1} - \frac{k^{n-3} - 1}{n-3} \right] |(n-1)a_1 + 2\alpha a_2|, \end{aligned} \quad (1.8)$$

for $n > 3$

and

$$\begin{aligned} \max_{|z|=1} |D_\alpha p(z)| &\geq \frac{|\alpha| - k}{1 + k^n} \sum_{\nu=1}^n \frac{k}{k + k_\nu} \left[2 \max_{|z|=1} |p(z)| + \frac{k^n - 1}{k^n} \min_{|z|=k} |p(z)| \right. \\ &\quad \left. + \frac{4|a_{n-1}|}{k(n+1)} \left(\frac{(k^n - 1) - n(k-1)}{n} \right) + \frac{4|a_{n-2}|(k-1)^n}{k^2 n(n-1)} \right] \\ &\quad + \frac{(k^2 - 1)}{2k^{n-1}} |na_0 + \alpha a_1| + \frac{(k-1)^2}{2k^{n-1}} |(n-1)a_1 + 2\alpha a_2|, \end{aligned} \quad (1.9)$$

for $n = 3$.

Since $\frac{k}{k + k_\nu} \geq \frac{1}{2}$ for $1 \leq \nu \leq n$, the above theorem gives the following result which is an improvement of the inequality (1.7).

Corollary 1.2 If $p(z) = \sum_{\nu=0}^n a_\nu z^\nu$ is a polynomial of degree n having all its zeros in $|z| \leq k$, $k \geq 1$, then for every real or complex number α with $|\alpha| \geq k$, we have

$$\begin{aligned} \max_{|z|=1} |D_\alpha p(z)| &\geq \frac{n(|\alpha| - k)}{1 + k^n} \left[\max_{|z|=1} |p(z)| + \frac{k^n - 1}{2k^n} \min_{|z|=k} |p(z)| \right. \\ &\quad \left. + \frac{2|a_{n-1}|}{(n+1)k} \left(\frac{k^n - 1 - n(k-1)}{n} \right) \right. \\ &\quad \left. + \frac{2|a_{n-2}|}{k^2} \left(\left(\frac{(k^n - 1) - n(k-1)}{n(n-1)} \right) - \left(\frac{(k^{n-2} - 1) - (n-2)(k-1)}{(n-2)(n-3)} \right) \right) \right] \\ &\quad + \frac{2(k^{n-1} - 1)}{(n+1)k^{n-1}} |na_0 + \alpha a_1| + \frac{1}{k^{n-1}} \left[\frac{k^{n-1} - 1}{n-1} - \frac{k^{n-3} - 1}{n-3} \right] |(n-1)a_1 + 2\alpha a_2|, \end{aligned} \quad (1.10)$$

for $n > 3$

and

$$\begin{aligned} \max_{|z|=1} |D_\alpha p(z)| &\geq \frac{n(|\alpha| - k)}{1 + k^n} \left[\max_{|z|=1} |p(z)| + \frac{k^n - 1}{2k^n} \min_{|z|=k} |p(z)| \right] \\ &+ \frac{2|a_{n-1}|}{(n+1)k} \left(\frac{(k^n - 1) - n(k-1)}{n} \right) + \frac{2|a_{n-2}|(k-1)^n}{k^2 n(n-1)} \\ &+ \frac{(k^2 - 1)}{2k^{n-1}} |na_0 + \alpha a_1| + \frac{(k-1)^2}{2k^{n-1}} |(n-1)a_1 + 2\alpha a_2|, \end{aligned} \quad (1.11)$$

for $n = 3$.

Dividing both sides of the inequalities (1.10) and (1.11) by $|\alpha|$ and letting $|\alpha| \rightarrow \infty$, we have the following refinement of the inequality (1.5).

Corollary 1.3 *If $p(z) = \sum_{\nu=0}^n a_\nu z^\nu$ is a polynomial of degree n , having all its zeros in $|z| \leq k$, $k \geq 1$, then for every real or complex number α with $|\alpha| \geq k$, we have*

$$\begin{aligned} \max_{|z|=1} |p'(z)| &\geq \frac{n}{1 + k^n} \left[\max_{|z|=1} |p(z)| + \frac{k^n - 1}{2k^n} \min_{|z|=k} |p(z)| \right] \\ &+ \frac{2|a_{n-1}|}{(n+1)k} \left(\frac{k^n - 1 - n(k-1)}{n} \right) \\ &+ \frac{2|a_{n-2}|}{k^2} \left(\left(\frac{(k^n - 1) - n(k-1)}{n(n-1)} \right) - \left(\frac{(k^{n-2} - 1) - (n-2)(k-1)}{(n-2)(n-3)} \right) \right) \\ &+ \frac{2(k^{n-1} - 1)}{(n+1)k^{n-1}} |a_1| + \frac{1}{k^{n-1}} \left[\frac{k^{n-1} - 1}{n-1} - \frac{k^{n-3} - 1}{n-3} \right] |2a_2|, \end{aligned} \quad (1.12)$$

for $n > 3$

and

$$\begin{aligned} \max_{|z|=1} |p'(z)| &\geq \frac{n}{1 + k^n} \left[\max_{|z|=1} |p(z)| + \frac{k^n - 1}{2k^n} \min_{|z|=k} |p(z)| \right] \\ &+ \frac{2|a_{n-1}|}{(n+1)k} \left(\frac{(k^n - 1) - n(k-1)}{n} \right) + \frac{2|a_{n-2}|(k-1)^n}{k^2 n(n-1)} \\ &+ \frac{(k^2 - 1)}{2k^{n-1}} |a_1| + \frac{(k-1)^2}{2k^{n-1}} |2a_2|, \end{aligned} \quad (1.13)$$

for $n = 3$.

As an application of Theorem 1.1 we prove the following result.

Theorem 1.4 *Let*

$$p(z) = \sum_{\nu=0}^n a_\nu z^\nu = a_n \prod_{\nu=1}^n (z - z_\nu), \quad a_n \neq 0,$$

be a polynomial of degree n , $|z_\nu| \geq k_\nu$, $1 \leq \nu \leq n$, and $k = \min(k_1, k_2, \dots, k_n) \leq 1$. Then for every real or complex number δ with $|\delta| \leq k$, we have

$$\begin{aligned} \max_{|z|=1} |D_\delta p(z)| &\geq \frac{(k-|\delta|)k^{n-1}}{1+k^n} \sum_{\nu=1}^n \frac{k_\nu}{k+k_\nu} [2 \max_{|z|=1} |p(z)| + \frac{1-k^n}{k^n} \min_{|z|=k} |p(z)|] \\ &+ \frac{4|a_1|k}{(n+1)} \left(\frac{(1-k^n) - n(k^{n-1} - k^n)}{nk^n} \right) + 4|a_2|k^2 \left(\frac{(1-k^n) - n(k^{n-1} - k^n)}{n(n-1)k^n} \right) - \\ &\left(\frac{(1-k^{n-2}) - (n-2)(k^{n-3} - k^{n-2})}{(n-2)(n-3)k^{n-2}} \right) \Big] \\ &+ \frac{2(1-k^{n-1})}{(n+1)} |na_n + \alpha a_{n-1}| + \\ &k^{n-1} \left[\frac{(1-k^{n-1})}{(n-1)k^{n-1}} - \frac{(1-k^{n-3})}{(n-3)k^{n-3}} \right] |(n-1)a_{n-1} + 2\alpha a_{n-2}|, \end{aligned} \quad (1.14)$$

for $n > 3$
and

$$\begin{aligned} \max_{|z|=1} |D_\delta p(z)| &\geq \frac{(k-|\delta|)k^{n-1}}{1+k^n} \sum_{\nu=1}^n \frac{k_\nu}{k+k_\nu} [2 \max_{|z|=1} |p(z)| + \frac{1-k^n}{k^n} \min_{|z|=k} |p(z)|] \\ &+ \frac{4|a_1|k}{(n+1)} \left(\frac{(1-k^n) - n(k^{n-1} - k^n)}{nk^n} \right) + 4|a_2|k^2(1-k^n) \\ &+ \frac{1-k^2}{2} |na_n + \alpha a_{n-1}| + \frac{(1-k)^2}{2} |(n-1)a_{n-1} + 2\alpha a_{n-2}|, \end{aligned} \quad (1.15)$$

for $n = 3$.

Since $\frac{k_\nu}{k+k_\nu} \geq \frac{1}{2}$ for $1 \leq \nu \leq n$, then Theorem 1.4 gives the following result.

Corollary 1.5 Let $p(z) = \sum_{\nu=0}^n a_\nu z^\nu$ be a polynomial of degree n does not vanish in $|z| < k$ where $k \leq 1$. Then for every real or complex number δ with $|\delta| \leq k$, we have

$$\begin{aligned} \max_{|z|=1} |D_\delta p(z)| &\geq \frac{n(k-|\delta|)k^{n-1}}{1+k^n} \left[\max_{|z|=1} |p(z)| + \frac{1-k^n}{2k^n} \min_{|z|=k} |p(z)| \right] \\ &+ \frac{2|a_1|k}{(n+1)} \left(\frac{(1-k^n) - n(k^{n-1} - k^n)}{nk^n} \right) + 2|a_2|k^2 \left(\frac{(1-k^n) - n(k^{n-1} - k^n)}{n(n-1)k^n} \right) - \\ &\left(\frac{(1-k^{n-2}) - (n-2)(k^{n-3} - k^{n-2})}{(n-2)(n-3)k^{n-2}} \right) \Big] \\ &+ \frac{2(1-k^{n-1})}{(n+1)} |na_n + \alpha a_{n-1}| + \\ &k^{n-1} \left[\frac{(1-k^{n-1})}{(n-1)k^{n-1}} - \frac{(1-k^{n-3})}{(n-3)k^{n-3}} \right] |(n-1)a_{n-1} + 2\alpha a_{n-2}|, \end{aligned} \quad (1.16)$$

for $n > 3$
and

$$\begin{aligned} \max_{|z|=1} |D_\delta p(z)| &\geq \frac{n(k-|\delta|)k^{n-1}}{1+k^n} \left[\max_{|z|=1} |p(z)| + \frac{1-k^n}{2k^n} \min_{|z|=k} |p(z)| \right] \\ &+ \frac{2|a_1|k}{(n+1)} \left(\frac{(1-k^n) - n(k^{n-1} - k^n)}{nk^n} \right) + 2|a_2|k^2(1-k)^n \\ &+ \frac{1-k^2}{2} |na_n + \alpha a_{n-1}| + \frac{(1-k)^2}{2} |(n-1)a_{n-1} + 2\alpha a_{n-2}|, \end{aligned} \quad (1.17)$$

for $n = 3$.

2 Lemmas

For proof of the theorems, we need the following lemmas. The first lemma is due to Dewan, Kaur and Mir [4].

Lemma 2.1 *If $p(z)$ is a polynomial of degree n , then for $R \geq 1$,*

$$\begin{aligned} \max_{|z|=R} |p(z)| &\leq R^n \max_{|z|=1} |p(z)| - \frac{2(R^n - 1)}{n+2} |p(0)| \\ &- \left[\frac{R^n - 1}{n} - \frac{R^{n-2} - 1}{n-2} \right] |p'(0)| \end{aligned} \quad (2.1)$$

if $n > 2$, and

$$\max_{|z|=R} |p(z)| \leq R^n \max_{|z|=1} |p(z)| - \frac{R-1}{2} [(R+1)|p(0)| + (R-1)|p'(0)|] \quad (2.2)$$

if $n = 2$.

Lemma 2.2 *If $p(z)$ is a polynomial of degree n , having no zeros in $|z| < 1$, then for $R \geq 1$,*

$$\begin{aligned} \max_{|z|=R} |p(z)| &\leq \frac{R^n + 1}{2} \max_{|z|=1} |p(z)| - \frac{R^n - 1}{2} \min_{|z|=1} |p(z)| - \\ &\frac{2}{n+1} \left[\frac{(R^n - 1)}{n} - (R-1) \right] |p'(0)| - \\ &\left[\frac{(R^n - 1) - n(R-1)}{n(n-1)} - \frac{(R^{n-2} - 1) - (n-2)(R-1)}{(n-2)(n-3)} \right] |p''(0)| \end{aligned} \quad (2.3)$$

if $n > 3$, and

$$\begin{aligned} \max_{|z|=R} |p(z)| &\leq \frac{R^n + 1}{2} \max_{|z|=1} |p(z)| - \frac{R^n - 1}{2} \min_{|z|=1} |p(z)| \\ &- \frac{2}{n+1} \left[\frac{R^n - 1}{n} - (R-1) \right] |p'(0)| \\ &- \frac{(R-1)^n}{n(n-1)} |p''(0)| \end{aligned} \quad (2.4)$$

if $n = 3$.

This lemma is due to Dewan, Singh and Mir [5].

Lemma 2.3 *If $p(z) = a_n \prod_{\nu=1}^n (z - z_\nu)$, $a_n \neq 0$, is a polynomial of degree n , such that $|z_\nu| \leq 1$, $1 \leq \nu \leq n$, then*

$$\max_{|z|=1} |p'(z)| \geq \sum_{\nu=1}^n \frac{1}{1 + |z_\nu|} \max_{|z|=1} |p(z)|. \quad (2.5)$$

This lemma is due to Giroux, Rahman and Schmeisser [8].

Lemma 2.4 *If $p(z)$ is a polynomial of degree n and α is any real or complex number with $|\alpha| \neq 0$, then for $|z| = 1$*

$$|D_\alpha q(z)| = |n\bar{\alpha}p(z) + (1 - \bar{\alpha}z)p'(z)|, \quad (2.6)$$

where $q(z) = z^n \overline{p(\frac{1}{\bar{z}})}$.

This lemma is due to Aziz [2].

3 Proofs of the theorems

Proof of the Theorem 1.1. Let $G(z) = p(kz)$. Since all the zeros of $p(z)$ lie in $|z| \leq k$, then all the zeros of $G(z)$ lie in $|z| \leq 1$. Now on applying Lemma 2.3 to the polynomial $G(z)$, we get

$$\max_{|z|=1} |G'(z)| \geq \sum_{\nu=1}^n \frac{1}{1 + \frac{|z_\nu|}{k}} \max_{|z|=1} |G(z)|. \quad (3.1)$$

Let $H(z) = z^n \overline{G(1/\bar{z})}$. Then it can be easily verified that for $|z| = 1$

$$|H'(z)| = |nG(z) - zG'(z)|. \quad (3.2)$$

The polynomial $G(z)$ has all its zeros in $|z| \leq 1$ and $|H(z)| = |G(z)|$ for $|z| = 1$, therefore, by Gauss-Lucas theorem for $|z| = 1$, we have

$$|H'(z)| \leq |G'(z)|. \quad (3.3)$$

Now for every real or complex number α with $|\alpha| \geq k$, we have

$$|D_{\frac{\alpha}{k}} G(z)| = |nG(z) - zG'(z) + \frac{\alpha}{k} G'(z)| \geq \frac{|\alpha|}{k} |G'(z)| - |nG(z) - zG'(z)|. \quad (3.4)$$

This gives with the help of (3.2) and (3.3) that

$$\max_{|z|=1} |D_{\frac{\alpha}{k}} G(z)| \geq \frac{|\alpha| - k}{k} \max_{|z|=1} |G'(z)|. \quad (3.5)$$

Using (3.1) in (3.4), we get

$$\max_{|z|=1} |D_{\frac{\alpha}{k}} G(z)| \geq \frac{|\alpha| - k}{k} \sum_{\nu=1}^n \frac{k}{k + |z_\nu|} \max_{|z|=1} |G(z)|. \quad (3.6)$$

Replacing $G(z)$ by $p(kz)$, we get

$$\max_{|z|=1} |D_{\frac{\alpha}{k}} p(kz)| \geq (|\alpha| - k) \sum_{\nu=1}^n \frac{1}{k + |z_\nu|} \max_{|z|=1} |p(kz)|. \quad (3.7)$$

which implies

$$\max_{|z|=1} |np(kz) + (\frac{\alpha}{k} - z)kp'(kz)| \geq (|\alpha| - k) \sum_{\nu=1}^n \frac{1}{k + |z_\nu|} \max_{|z|=1} |p(kz)|.$$

which gives

$$\max_{|z|=k} |D_\alpha p(z)| \geq (|\alpha| - k) \sum_{\nu=1}^n \frac{1}{k + |z_\nu|} \max_{|z|=k} |p(z)|. \quad (3.8)$$

The polynomial $p(z)$ is of degree $n > 3$ and so $D_\alpha p(z)$ is the polynomial of degree $n - 1$, where $n - 1 > 2$, hence applying Lemma 2.1 to the polynomial $D_\alpha p(z)$, we get

$$\begin{aligned} \max_{|z|=k} |D_\alpha p(z)| &\leq k^{n-1} \max_{|z|=1} |D_\alpha p(z)| - \frac{2(k^{n-1} - 1)}{n + 1} |na_0 + \alpha a_1| \\ &\quad - \left[\frac{k^{n-1} - 1}{n - 1} - \frac{k^{n-3} - 1}{n - 3} \right] |(n - 1)a_1 + 2\alpha a_2|. \end{aligned} \quad (3.9)$$

Combining (3.9) and (3.8), we get

$$\begin{aligned} \max_{|z|=1} |D_\alpha p(z)| &\geq \frac{|\alpha| - k}{k^{n-1}} \left[\sum_{\nu=1}^n \frac{1}{k + |z_\nu|} \max_{|z|=k} |p(z)| \right] + \\ &\frac{2(k^{n-1} - 1)}{(n + 1)k^{n-1}} |na_0 + \alpha a_1| + \frac{1}{k^{n-1}} \left[\frac{k^{n-1} - 1}{n - 1} - \frac{k^{n-3} - 1}{n - 3} \right] |(n - 1)a_1 + 2\alpha a_2|. \end{aligned} \quad (3.10)$$

Since the polynomial $p(z)$ has all zeros in $|z| \leq k$, $k \geq 1$, then $q(z) = z^n p(1/z)$ has no zero in $|z| < 1/k$, hence the polynomial $q(z/k)$ having no zeros in $|z| < 1$, therefore on applying Lemma 2.2 to the polynomial $q(z/k)$, we get

$$\begin{aligned} \max_{|z|=k} |q(z/k)| &\leq \\ &\left[\frac{k^n + 1}{2} \right] \max_{|z|=1} |q(z/k) - (\frac{k^n - 1}{2}) \min_{|z|=1} |q(z/k)| - \frac{2|a_{n-1}|}{(n + 1)k} \left[\frac{k^n - 1}{n} - (k - 1) \right] \\ &\quad - \frac{2|a_{n-2}|}{k^2} \left[\left(\frac{k^n - 1}{n(n - 1)} \right) - \left(\frac{k^{n-2} - 1}{(n - 2)(n - 3)} \right) \right]. \end{aligned} \quad (3.11)$$

Since $\max_{|z|=1} |q(z/k)| = (1/k^n) \max_{|z|=k} |p(z)|$, and $\min_{|z|=1} |q(z/k)| = (1/k^n) \min_{|z|=k} |p(z)|$, then (3.11) is equivalent to

$$\begin{aligned} \max_{|z|=k} |p(z)| &\geq \left(\frac{2k^n}{k^n+1}\right) \max_{|z|=1} |p(z)| + \left(\frac{k^n-1}{k^n+1}\right) \min_{|z|=k} |p(z)| \\ &+ \frac{4k^{n-1}|a_{n-1}|}{(n+1)(k^n+1)} \left[\frac{k^n-1}{n} - (k-1)\right] \\ &+ \frac{4k^{n-2}|a_{n-2}|}{k^n+1} \left[\left(\frac{k^n-1}{n(n-1)}\right) - \left(\frac{k^{n-2}-1}{(n-2)(n-3)}\right)\right]. \end{aligned} \quad (3.12)$$

Combining (3.10) and (3.12), we get

$$\begin{aligned} \max_{|z|=1} |D_\alpha p(z)| &\geq \frac{|\alpha| - k}{k^{n-1}} \sum_{\nu=1}^n \frac{1}{k+k_\nu} \left[\left(\frac{2k^n}{k^n+1}\right) \max_{|z|=1} |p(z)|\right. \\ &+ \left(\frac{k^n-1}{k^n+1}\right) \min_{|z|=k} |p(z)| + \frac{4k^{n-1}|a_{n-1}|}{(n+1)(k^n+1)} \left(\frac{k^n-1}{n} - (k-1)\right) \\ &+ \left.\frac{4k^{n-2}|a_{n-2}|}{k^n+1} \left(\left(\frac{k^n-1}{n(n-1)}\right) - \left(\frac{k^{n-2}-1}{(n-2)(n-3)}\right)\right)\right] \\ &+ \frac{2(k^{n-1}-1)}{(n+1)k^{n-1}} |na_0 + \alpha a_1| + \frac{1}{k^{n-1}} \left[\frac{k^{n-1}-1}{n-1} - \frac{k^{n-3}-1}{n-3}\right] \\ &\times |(n-1)a_1 + 2\alpha a_2|. \end{aligned} \quad (3.13)$$

which completes the proof of (1.10). The proof of the Theorem 1.1 in the case $n = 3$ follows along the same lines as the proof of (1.10) but instead of inequalities (2.1) and (2.3), we use inequalities (2.2) and (2.4), respectively. \square

Proof of the Theorem 1.4. Let $q(z) = z^n \overline{p(1/\bar{z})}$ then $1/|z_\nu| \leq 1/k_\nu$ for $1 \leq \nu \leq n$ such that $1/k = \max(1/k_1, 1/k_2, \dots, 1/k_n) \geq 1$. On applying Theorem 1.1 to the polynomial $q(z)$, we get

$$\begin{aligned} \max_{|z|=1} |D_\alpha q(z)| &\geq (|\alpha| - 1/k) k^{n-1} \sum_{\nu=1}^n \frac{1}{1/k + 1/k_\nu} \left[\left(\frac{2/k^n}{1/k^n+1}\right) \max_{|z|=1} |q(z)|\right. \\ &+ \left(\frac{1/k^n-1}{1/k^n+1}\right) \min_{|z|=1/k} |q(z)| + \frac{4|a_1|}{(1+1/k^n)k^{n-1}(n+1)} \left(\frac{(1/k^n-1) - n(1/k-1)}{n}\right) \\ &+ \left.\frac{4|a_2|}{k^{n-2}(1+1/k^n)} \left(\left(\frac{(1/k^n-1) - n(1/k-1)}{n(n-1)}\right) - \left(\frac{(1/k^{n-2}-1) - (n-2)(1/k-1)}{(n-2)(n-3)}\right)\right)\right] \\ &+ \frac{2k^{n-1}(1/k^{n-1}-1)}{(n+1)} |na_n + \alpha a_{n-1}| + k^{n-1} \left[\frac{(1/k^{n-1}-1)}{n-1} - \frac{(1/k^{n-3}-1)}{n-3}\right] \\ &\times |(n-1)a_{n-1} + 2\alpha a_{n-2}| \end{aligned} \quad (3.14)$$

Now from lemma 2.4 it follows that for $|z| = 1$, $|D_\alpha q(z)| = |\alpha| |D_{\frac{1}{\alpha}} p(z)|$ Using the above equality in (3.14), we get for $|\alpha| \geq 1/k$,

$$\begin{aligned}
|\alpha| \max_{|z|=1} |D_{\frac{1}{\alpha}} p(z)| &\geq (|\alpha| - 1/k) k^{n-1} \sum_{\nu=1}^n \frac{k k_\nu}{k + k_\nu} \left[\left(\frac{2}{1 + k^n} \right) \max_{|z|=1} |p(z)| \right. \\
&+ \frac{1}{k^n} \left(\frac{1 - k^n}{1 + k^n} \right) \min_{|z|=k} |p(z)| + \frac{4|a_1|k}{(n+1)(k^n+1)} \left(\frac{(1 - k^n) - n(k^{n-1} - k^n)}{nk^n} \right) \\
&+ \left. \frac{4|a_2|k^2}{(1+k^n)} \left(\left(\frac{(1 - k^n) - n(k^{n-1} - k^n)}{n(n-1)k^n} \right) - \left(\frac{(1 - k^{n-2}) - (n-2)(k^{n-3} - k^{n-2})}{(n-2)(n-3)k^{n-2}} \right) \right) \right] \\
&+ \frac{2(1 - k^{n-1})}{(n+1)} |na_n + \alpha a_{n-1}| + k^{n-1} \left[\frac{(1 - k^{n-1})}{(n-1)k^{n-1}} - \frac{(1 - k^{n-3})}{(n-3)k^{n-3}} \right] \\
&\times |(n-1)a_{n-1} + 2\alpha a_{n-2}|,
\end{aligned} \tag{3.15}$$

Replacing $\frac{1}{\alpha}$ by δ , so that $|\delta| \leq k$, we get from (3.15)

$$\begin{aligned}
\left| \frac{1}{\delta} \right| \max_{|z|=1} |D_\delta p(z)| &\geq \left(\left| \frac{1}{\delta} \right| - 1/k \right) k^{n-1} \sum_{\nu=1}^n \frac{k k_\nu}{k + k_\nu} \left[\left(\frac{2}{1 + k^n} \right) \max_{|z|=1} |p(z)| \right. \\
&+ \frac{1}{k^n} \left(\frac{1 - k^n}{1 + k^n} \right) \min_{|z|=k} |p(z)| + \frac{4|a_1|k}{(n+1)(k^n+1)} \left(\frac{(1 - k^n) - n(k^{n-1} - k^n)}{nk^n} \right) \\
&+ \left. \frac{4|a_2|k^2}{(1+k^n)} \left(\left(\frac{(1 - k^n) - n(k^{n-1} - k^n)}{n(n-1)k^n} \right) - \left(\frac{(1 - k^{n-2}) - (n-2)(k^{n-3} - k^{n-2})}{(n-2)(n-3)k^{n-2}} \right) \right) \right] \\
&+ \frac{2(1 - k^{n-1})}{(n+1)} |na_n + \alpha a_{n-1}| + k^{n-1} \left[\frac{(1 - k^{n-1})}{(n-1)k^{n-1}} - \frac{(1 - k^{n-3})}{(n-3)k^{n-3}} \right] \\
&\times |(n-1)a_{n-1} + 2\alpha a_{n-2}|.
\end{aligned} \tag{3.16}$$

Or

$$\begin{aligned}
\max_{|z|=1} |D_\delta p(z)| &\geq (k - |\delta|) k^{n-1} \sum_{\nu=1}^n \frac{k_\nu}{k + k_\nu} \left[\left(\frac{2}{1 + k^n} \right) \max_{|z|=1} |p(z)| \right. \\
&+ \frac{1}{k^n} \left(\frac{1 - k^n}{1 + k^n} \right) \min_{|z|=k} |p(z)| + \frac{4|a_1|k}{(n+1)(k^n+1)} \left(\frac{(1 - k^n) - n(k^{n-1} - k^n)}{nk^n} \right) \\
&+ \left. \frac{4|a_2|k^2}{(1+k^n)} \left(\left(\frac{(1 - k^n) - n(k^{n-1} - k^n)}{n(n-1)k^n} \right) - \left(\frac{(1 - k^{n-2}) - (n-2)(k^{n-3} - k^{n-2})}{(n-2)(n-3)k^{n-2}} \right) \right) \right] \\
&+ \frac{2(1 - k^{n-1})}{(n+1)} |na_n + \alpha a_{n-1}| + k^{n-1} \left[\frac{(1 - k^{n-1})}{(n-1)k^{n-1}} - \frac{(1 - k^{n-3})}{(n-3)k^{n-3}} \right] \\
&\times |(n-1)a_{n-1} + 2\alpha a_{n-2}|.
\end{aligned} \tag{3.17}$$

Which is (1.14). The proof of the Theorem 1.4 in the case $n = 3$ follows along the same lines as the proof of Theorem 1.1. Hence the proof of Theorem 1.4 is complete. \square

References

- [1] A. Aziz and N. A. Rather, *A refinement of a theorem of Paul Turan concerning polynomials*, J. Math. Ineq. Appl, **1** (1998), 231-238.
- [2] A. Aziz, *Inequalities for the polar derivative of a polynomial*, J. Approx. Theory, **55** (1988), 183-193.
- [3] S. Bernstein, *Leons sur les propriétés extrémales et la meilleure approximation des fonctions analytiques d'une variable réelle*. Gauthier Villars, Paris, 1926.
- [4] K. K. Dewan, J. Kaur and A. Mir, *Inequalities for the derivative of a polynomial*, J. Math. Anal. Appl, **269** (2002), 489-499.
- [5] K. K. Dewan, N. Singh and A. Mir, *Growth of polynomials not vanishing inside a circle*, Int. J. Math. Anal, **1** (2007), 529-538.
- [6] K. K. Dewn and C. M. Upadhye, *Inequalities for the polar derivative of a polynomial*, J. Inequal. Pure and Appl. Math, **9** (2008), 1-9.
- [7] N.K. Govil, *On the derivative of a polynomial*, Proc. Amer. Math. Soc, **41** (1973), 543-546.
- [8] A. Giroux, Q. I. Rahman and G. Schmeisser, *On Bernstein's inequality*, Can. J. Math, **31** (1979), 347-353.
- [9] P. D. Lax, *Proof of a conjecture of P. Erdős on the derivative of a polynomial*, Bull. Amer. Math. Soc, **50** (1944), 509-513.
- [10] M. A. Malik, *On the derivative of a polynomial*, J. London. Math. Soc, **1** (1969), 57-60.
- [11] V. K. Jain, *Generalization of certain well known inequalities for polynomial*, Glas. Mat, **32** (1997), 45-51.
- [12] P. Turan, *Über die Ableitung von Polynomen*, Compositio Math, **7** (1939), 89-95.

DOI: 10.7862/rf.2014.11

Ahmad Zireh – Corresponding author

email: azireh@shahroodut.ac.ir

S. Asie Hosseini

email: sarah.panic@yahoo.com

Department of Mathematics,
Shahrood University of Technology,
Shahrood, Iran

Received 13.12.2013, Accepted 12.02.2014